Notes: 7.1 Put on bright yellow paper!

*Reciprocal Identities:

- n_ 1 _ ]
ind cscl i sin@
o—_1 _ ]
cOS sect SER cosd
tan@=_1 cotd=_1

cot@ tan@



—Leave a little space between each type of identity!!

*Quotient Identities:

sint — tand cost — cotd
cost siné




—Leave a little space between each type of identity!!
*Pythagorean Identities:
sin%0 + cos?0 = 1 ] + cot?6 = csc?0

e @iﬁ%\i— kQOgS >L = |

tan?0 + 1 =sec?0



—Leave a little space between each type of identity!!

Double Angle Identities:

sin 20 = 2s1inBcosO

cos 20 = cos?0 — sin?0

@ =1 — 2sin?0
)= 2c0s%0 — 1



*Opposite Angle Identities:
sin(=6¢) = ~sin0 cos(~0) = cos

A




————— 7 . A From
lsing =) 3 m Ch. 5 & 6:
cosb= — ||/cosB= + sin@=y o >
= — T = T
tan® L Jane ~|cosd =X %‘
| & L
sin@= — sind= — tan® =% J

X
cosf= — ||cos@ = + | TR

Tzl
- el
[tan9= +/.} tan@= — e

I3




CH.7 INTRODUCTION TO IDENTITIES Name: Per:
=5 RK. YOU MUST USE IDENTITIES TO SOLVE EACH PROBLEM!
a. Write identity CHECK ANSWERS:
b. Pluginvalues '
c. Show work and solve 3 2 b
Use the given information to determine the exact trigonometric value. s : ?
'\E s | 37 - 2J€ - BJﬁ 4‘5
1. cotd = —=—, —<B<7: tand 2.5sinf=—=, T<O<— : cosH 5 3 B
2 2 5 2
RN
) 4 3 4
sinx + cosx i 2
COSX cscx
csco sech
2cotb 2cosb
Simplify each expression.
cscl sm 26
4. (cosx)(cscx)(tanx) 5 e cotd

" cotd cos @




Determine an exact value using identities:

find tan@ = [t

CHECK ANSWERS:

ER Y
13 5

sinx + cosx i 2
COsX CSCX
cscH secH

2cotB 2cosH




*Reciprocal Identities:

nh=_1 — 1
sin@ <ol cscl Aoy
g=_1 g=_1
c05 secl >t6 cosé
= L = 1
tand otd cotd o

Double Angle Identities:

sin 20 = 2sinfcosH

cos 20 = c0s?0 — sin?0

¢ =1 — 2sin%0
)=2c0s%0 — 1

*Quotient Identities:

SIN0 = tang €080 = cotf
cosd siné

*Pythagorean Identities:

1 + cot?d = csc0

sin%d + cos?6 =1
tan?0 + 1 = sec0

*Opposite Angle Identities:
sin(=0) = “~sin0 cos(~6) = cos0




Determine an exact value using identities:

2. SIn@ = —l T < 6’<3—7[
5 =2
CDS::

SN0 +cost 5 = |

t%)l + (050 = |

\

— < —
Y + YD ]
cNH =

Jcb%‘% P

ONO=|—

e
>

————

find cosé

CHECK ANSWERS:
V2245
i

4 3

206 W13 43
3

3 13

26 2 5 15
7

4 3 4

sinx + cosx ] 2
COSX CSCX
cscB secH

2cotB 2cosH




Simplify each expression: CHECKANSWERS
L Ty s
3 CSCH _ SinB \ S/\/ﬁ& 26 W3 4B
. — — 5 13 3
cotd Coo b S b4 B 25 I 5 4G
SWLB \ 7 4 3 4
- \ sinx + cosx 1 2
C’ OS e. csch /3&(

. 2cotB 2cosH
B (g e C 97

4. (cosx)(cscx)(tanx)




Simplify each expression: CHEE MRS

3 2 25
4 3 5
5. ° COte B 56 - 1; 43
cosO 26 5 A
\ \ ¥ 4 3 4
. sinx + cosx 1 2
23%6@5(6 W COSX CSCX
’ — 9\6056 cscB secH

Cos 6
- \ S/l/\P(@- 2cotd  —2cosd




CLEARLY SHOW ALL WORK ON A SEPARATE SHEET OF PAPER OR ON THE BACK OF THIS PAPER.

Use the given information to determine the exact trigonometric value.

B

6. sinf9=T, 0<9<£; cscl

2 o )
8. cosf@ = ——, 5<9<7r; siné@

5 T
10. sec@ =——, —<@<x: tand
4 2

2 3
12. tan6’=§, Tl — ; cosd
Simplify each expression.
secx coté@
15.
tan x cosd
18. sinx-cosx-secx:-cotx 19.

11. sinf=——, w<l<

7
13. secf = —

1
7. sinf?:E , 0<9<£; cosf

NITH"
9. csc6’=T, —< @< cotl

i

R¥/a
: tand
3 2
RY/4
—, T<f8<— ; sin@
5 2
16. (CSCZQ)(SinZB) 17. cosx- tanx + sinx- cotx

(sinx + cosx)? + (sinx — cos x)?

hint: square each part, then combine like terms
reminder: (x +y)? = x°+2xy + y°



